

$$\frac{2x-a}{x^2+ax+b} \xrightarrow{\text{مقابلہ ۲: ۱}} \frac{-1}{-1} = -\infty \Rightarrow a+b = -2+4=0$$

$$(x-2)^2 \leftarrow \begin{matrix} \text{مقابلہ ۱: ۱} \\ \text{مقابلہ ۲: ۱} \end{matrix}$$

$$x^2-2x+4 \rightarrow a=-2 \quad b=4$$

$$\frac{x}{x^2+ax+b} = +\infty \xrightarrow{x \rightarrow \sqrt[3]{2}} \frac{\sqrt[3]{2}}{\sqrt[3]{2}} = +\infty$$

$$\left[\frac{b}{a} \right] = \left[\frac{\sqrt[3]{2}}{-x\sqrt[3]{2}} \right] = \left[-\sqrt[3]{\frac{1}{x}} \right] = -1 \quad (2)$$

$$(x-\sqrt[3]{2})^2 \rightarrow \begin{matrix} \text{مقابلہ ۱: ۱} \\ \text{مقابلہ ۲: ۱} \end{matrix}$$

$$x^2 - 2\sqrt[3]{2}x + \sqrt[3]{4} \rightarrow a = -2\sqrt[3]{2} \quad b = \sqrt[3]{4} = 2\sqrt[3]{2}$$

$$\frac{[-x]+a}{|\frac{\sqrt[3]{x}}{x}+a|+a} = -\infty \rightarrow \frac{[-\frac{\sqrt[3]{x}}{x}]+a}{|\frac{1}{x}+a|+a} = -\infty \rightarrow \frac{-1+a}{|\frac{1}{x}+a|+a} = -\infty$$

$$\left[-\frac{1}{4} \right] = -1$$

$$x \rightarrow \left(\frac{1}{\sqrt[3]{x}} \right)^+ = \left(\frac{\sqrt[3]{x}}{x} \right)^+$$

چون جوں ہی صافیت شدہ سے ہیں منبج منکر کچھ بڑھ

$$\frac{1}{x} + a + a = 0 \rightarrow 2a = -\frac{1}{x} \rightarrow a = -\frac{1}{4}$$

$$x > -\frac{1}{4} \rightarrow x^2 < \frac{1}{2} \rightarrow -x^2 > -\frac{1}{2} \rightarrow -\frac{1}{x^2} < -2 \rightarrow -\frac{2}{x^2} < -4$$

$$\left[-\frac{2}{x^2} \right] = -9 \quad (3)$$

$$\lim_{x \rightarrow \left(-\frac{1}{4} \right)^+} \frac{14x - \left[-\frac{2}{x^2} \right]}{x^2x + \left[\frac{x}{x^2} \right]} \Rightarrow \frac{(-14) - (-9)}{(-14)^+ + 12} = \frac{1}{0^+} = +\infty$$

$$x \rightarrow \left(-\frac{1}{4} \right)^+$$

$$x > -\frac{1}{4} \rightarrow x^2 < \frac{1}{2} \rightarrow \frac{1}{x^2} > 2 \rightarrow \frac{x}{x^2} > 12 \rightarrow \left[\frac{x}{x^2} \right] = 12$$

$$x > -\frac{1}{4} \rightarrow 22x > -11$$

$$\lim_{x \rightarrow \sqrt[3]{2}} \frac{x^2-2}{x^3-[x^3]} = \frac{x^2-2}{x^3-2} = \frac{(x-2)(x+2)}{(x-2)(x^2+2x+2)} = \frac{x+2}{x^2+2x+2} = \frac{4}{2+2+2} = \frac{4}{6} = \frac{2}{3}$$

$$\frac{x^2+10x+14}{12+4\sqrt[3]{x}} \xrightarrow{\text{HOP}} \frac{2x+10}{4 \times 1} = \frac{-14}{4} = -\frac{7}{2}$$

$$\lim_{x \rightarrow 0^+} \frac{\sqrt{2+3x} - \sqrt{2-x}}{\sqrt{1-\cos x}} = \frac{\sqrt{2+3x} - \sqrt{2-x}}{(1-\cos x)^{\frac{1}{2}}} = \frac{\frac{3}{2\sqrt{2+3x}} - \frac{-1}{2\sqrt{2-x}}}{1 - \frac{1}{2}\cos x} = \frac{\frac{3}{2\sqrt{2}} + \frac{1}{2\sqrt{2}}}{\frac{1}{2}} = \frac{\frac{4}{2\sqrt{2}}}{\frac{1}{2}} = \frac{4}{\sqrt{2}} = 2\sqrt{2}$$

2\sqrt{2} = \frac{4\sqrt{2}}{2} \quad \text{مقابلہ ۱: ۱}

بنابر این صورت و معادله هر دو صورتی که می توانیم

$$\lim_{x \rightarrow 0} \frac{K + \cos(\sqrt{a}x)}{Kx^2} = 3 \quad \rightarrow \quad K + \cos(\sqrt{a} \cdot 0) = 0 \rightarrow K + \cos 0 = 0 \rightarrow K = -1 \quad (1)$$

$$\frac{a}{K} = \frac{4}{-1} = -4 \quad \rightarrow \quad \frac{-1 + \cos \sqrt{a}x}{(-1)x^2} = \frac{1 - \cos \sqrt{a}x}{x^2} \rightarrow \frac{1 - \cos(Cx)}{x^2} = \frac{C^2}{2} = \frac{a}{2} = 3 \quad \rightarrow \quad a = 6 \quad (2)$$

a) $\lim_{x \rightarrow (\frac{1}{\sqrt{a}})^+} \frac{\sqrt{x - \frac{1}{\sqrt{a}}} + \sqrt{x} - \sqrt{x - \frac{1}{\sqrt{a}}}}{\sqrt{x^2 - \frac{1}{a}}}$

$$\sqrt{x - \frac{1}{\sqrt{a}}} = \sqrt{x - \frac{1}{\sqrt{a}}} \quad \rightarrow \quad \frac{\sqrt{x - \frac{1}{\sqrt{a}}}}{\sqrt{x^2 - \frac{1}{a}}} = \frac{\sqrt{x - \frac{1}{\sqrt{a}}}}{\sqrt{x - \frac{1}{\sqrt{a}}} \sqrt{x + \frac{1}{\sqrt{a}}}} = \frac{1}{\sqrt{x + \frac{1}{\sqrt{a}}}} \rightarrow \frac{1}{\sqrt{\frac{1}{\sqrt{a}} + \frac{1}{\sqrt{a}}}} = \frac{1}{\sqrt{\frac{2}{\sqrt{a}}}} = \frac{\sqrt{a}}{\sqrt{2}}$$

$$\lim_{x \rightarrow -1} \frac{1 - K[n]}{x^2 - 1} = -\infty$$

$(-1)^+ \quad \frac{1 - K(-1)}{0^-} = \frac{1 + K}{0^-} \rightarrow 1 + K > 0 \rightarrow K > -1$
 $(-1)^- \quad \frac{1 - K(-1)}{0^+} = \frac{1 + K}{0^+} = -\infty \rightarrow 1 + K < 0 \rightarrow K < -1 \quad (3)$

پس نتیجه $(K\pi, \cos K\pi)$ بقا

$$-1 < K < -\frac{1}{2}$$